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is a solution as well .

2) y, (f) = 1- 2 ⇒ y
'

(E) 2- 4y(f) =D

y ,'(E) = Zt ⇒ (2672 - 41-2=0
462 - 462 = 0 ✓

y.lt) is a solution

yzct) = 2 y.lt) : 21-2 is Not a solution
, as

time it is not a linear differential equation .

yictt. 4T ⇒ (41-11-41262) ? 0

161-2-81-2 =/ 0 ✓

yzct) is not a solution

3) aint - 3AM-11 + zach -2) =D
⇒ afn) =3, azln)= 2

↳ 1-3+2=0 ✓ ↳ 2-6-14--0 ✓

azCnl= 3 ⇒ 3-9+6 =D ✓

4) a (n )= aln -172
, n

> 0

9. (n ) = 2
" ⇒ zzn =(zzM

- '
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Az (n) = 22^+324

Az (n -1)
= 22^-1+32^-1

$ 22^+32
"

= (22^-1+32^-1)
2

= zz
"""

-1 2 .



5) Parti
ath) - 7am-17 + 12am-2) = 6h -11

⇒ a /01=3
, a (1) = 9

⇒ aint. Rn ⇒ Rn - 7- R
"'t lzrn-2=0

Part ii
⇒ R
""

(122-712+12) = 0

(R - 4) (12-3) ⇒ a Cn) :C ,
- 3h + Cz - 4h

Using Maple's ✓solve command :

✓

Part iii

acn) - 4am- 2) = - 3h -18

( ⇒ alot = 2
,
an = 1

am) = Rn ⇒ Rn - 412^-2
↳ Rn-2 (R2 - 4) ⇒ 12=-2

,
-12

↳ aln)= C
,

. -2^-1 Cz . 2^

✗ n+B -4Gcn -2)+ B) =
- 3h -18

-

✗nt B- 4 Can -24-1 B] =
- 3h -18

dnt B- 40h -18×-4 B = -3h -18

- 34h - 3ps -184 = -3h -18

✗ = 1
, -3ps-18=8

B--0

↳ n is also a solution

aln) = C
,
.
- 2h + Cz. 2h -1h

↳ a (6) = 2 = C
,
+ Cz

↳ a (1) = I = C
,
• - 2 t Zczt I

↳ { 2=4+4 ⇒c,-
0 = Zcz - 2C , ⇒ C, = Cz =)

ANS: C- 27^+2
"
-1h = acn) ✓

pa
Solve using Maple
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